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106,860 (F3/*.) X 09576 + 90590 (A/*.)  x 0.0466 = 106,550.630 (F1/".)
= 106,550 (F3/".) XIOARBEEDHEREA

(2) TRl 4E & B T RAHEG LD Z 48 (REHTEE ZENER) DR E

< TR > < BT A >
106,550 (F4/*.) - 83350 (/") = 23,200 (/%)
= 23,200 (M/*.) X100 FKFEELNE T
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< FURHTEAE 2 BhEE > <HERE>
23,200 (/%) X 0.081 (F/m) = 100 (/%) X (1 + 010) = 20.6712 (A/m)
= 2067 (H/m) MINREEIMLUTEYET
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<HEEHGHEE> <REBHEBMORAELE> <BUFZIES >
169.03 (F/m) + 2067 (A/m) - 30.00 (F3/m) = 159.70 (3/m)
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159.70 (F4/m) — 168.96 (F4/m) = A9.26 (3/m)
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<HAHE> <REBHEBIH> <ARERAE>
1,588.88 (/A) +  159.70 (H/m) X 31(m/A) = 6,539.58 (M/A)
= 6539 (M/8) XIARBEYIET
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